AEHL - AEEF 25

_ L _ @
{3 A i T = @
L ot 1, oD | I%l §L %’ ' == DHTAP oD i “x:{ ﬂ
1 /J AE a5 | 1 ¥ 1 /|AE _‘&],
‘ = BBE ‘ - ZKK:‘-‘ZEK Holes. QKKT:’;K Holes BBB £ QKK ol ! 8 ‘ i SBB ‘ ) - o Hc‘lte'ﬂK Holes *
1] [=] - - .
AEHL - AEEF %}Z![& Outline Dimensions (mm)
. WEIGHT
OUTPUT(HP) #itt FRAME | FIGURE SHAFT END #ii# BEARINGS ##ik 55
=
HESE NO.
2P 4P 6P B A AA AB AC AD AE B BB c H HA HC HD HE K KK L LE D E ED F G GA DH LOAD | OUTOF KGS
SIDE  |LOAD SIDE
025 | 025 - 63 1 100 | 28 120 144 | 123 93 80 100 40 63 80 | 1350 - 29 22 | 2190 @ 760 11 23 18 85 | 125 | M4X8 | 62012z | 620127 8.5
05 05 025 | 71 1 112 | 355 | 140 162 | 133 | 103 90 115 45 71 80 | 1520 - 54 22 | 2505 @ 855 14 30 25 1.0 | 160 | M5X10 | 620377 | 620272 115
23 1 9oL 140 | 355 170 200 = 157 | 125 125 | 150 56 90 100 | 190.0 - 65 10 22 | 3325 | 1015 @ 24 50 45 200 | 270 | M8X16 | 62052z | 620427 24.0
. 2 100L 2 160 | 45 195 219 | 180 | 145 140 | 175 63 100 | 125 - 243 71 12 28 | 3745 | 1115 | 28 60 55 240 | 310 | M10X20 | 62062Z | 620527 37.0
5 112M 190 | 45 224 235 | 189 | 154 140 | 175 70 112 14.0 - 265 83 12 28 | 3915 | 1215 | 28 60 55 240 | 31.0 | M10X20 | 63062Z | 630522 46.0
- 10 75 | 13oM 216 | 45 250 273 | 225 | 180 178 | 212 89 132 16.0 - 310 83 12 3 | 4920 | 1450 @ 38 80 75 10 330 | 410 | MI2X24 | 63082Z | 630622 79.0
1520 = 15 10 | 160M 254 | 50 300 334 | 263 | 218 | 210 | 250 | 108 160 | 18.0 - 377 108 | 145 | 35 | 6080 | 180.0 42 10 | 105 12 370 | 450 | M16X32 | 63092z | 63072Z 125.0
25 20 15 | 160L 254 | 50 300 334 | 263 | 218 | 254 | 300 | 108 160 18.0 - 377 108 | 145 | 35 | 6520 | 180.0 = 42 10 | 105 12 370 | 450 | MI16X32 | 63097Z | 63072Z 140.0
- 2530 20 | 180MC 279 | 75 355 382 | 305 | 250 | 241 207 | 121 180 | 200 - 421 19 | 145 | 52 | 6720 | 2000 @ 48 10 | 105 14 425 | 515 | MI6X32 | 63112z | 631022 195.0
40 . - | 180LA 279 | 75 355 382 | 305 | 250 | 279 | 335 | 121 180 | 200 - 421 19 | 145 = 52 | 7100 | 2000 55 10 | 105 16 490 | 590 | M20X40 | 63122Z | 63102Z 198.0
- 40 | 2530 | 1g0LC 279 | 75 355 382 | 305 | 250 | 279 = 335 | 121 180 | 200 - 421 19 | 145 = 52 | 7100 | 2000 55 10 | 105 16 49.0 | 590 | M20X40 | 63122z | 631022 223.0

Remark : 1. Shaft dia "D" clearance : @11~028 : J6, @38~048 : K6

AEUL » AEVF %351

2. Shaft height "H" clearance : H %

3. The above mentioned value subject to change without notice

oAC

@ KK Hole

@AC

T
HE

HE

D KKHole :

DA

HB HB

1]

D KK Hole

= ME . ||| — 9 B 5 w < rp— - Mingtn| 3 . § ® wl < i — .
; 9—{ oy Fig-2 hpaavl 2N ; hpa Ay 9 X . i 9
DH Tz oD [af S
__1 51 g | OHT: 20 EI DHT: 0 k ﬂL = DH Tat i
& 45 Holos ' \_‘::fm' ‘7T 4:08 Holes B E ‘__J_ EK 4055 Holes i WI | EI 4 %
—a Cov o
2P oP
1| | = . . -
AEUL - AEVF 5ME![E Outline Dimensions (mm)
_ WEIGHT
OUTPUT(HP) it FRAME | FIGURE SHAFT END B BEARINGS 8% s
=
125 NO.
op 4P 6P B AC AD AE HB KK L LA LB LD M N P s T D E ED F G GA DH LOAD OUTOF KGS
SIDE | LOAD SIDE

0.25 0.25 - 63 1 144 123 93 . 22 248.0 12 225.0 74 130 110 160 100 35 11 23 18 4 8.5 125 M4Xs | 620122 620122 95
05 05 - 71 1 162 133 103 - 22 2775 12 2475 82 130 110 160 10.0 35 14 30 25 5 1.0 160 | M5X10 | 620327 620227 125

23 2 1 0L 3 200 157 125 - 22 3715 12 3215 113 165 130 200 12.0 35 24 50 45 8 20.0 270 | MeXi6 620527 620427 27.0

; 2 100L 219 180 145 140 28 3745 16 3145 88 215 180 250 145 40 28 60 55 24.0 31.0 | M10X20 | 6206ZZ 620527 40.0

5 5 3 112M 3 235 189 154 150 28 431.0 16 371.0 135 215 180 250 145 40 28 60 55 8 24.0 31.0 | M10X20  63062Z 630522 51.0

; 10 75 132M 2 273 224 180 169 35 492.0 20 412.0 116 265 230 300 145 4.0 38 80 75 10 33.0 41.0 | M12X24  63082Z 630622 54.0
15-20 15 10 160M 4 334 263 218 271 35 608 20 498 151.0 300 250 350 185 5.0 42 110 105 12 37.0 450 | M16X32 | 63092Z 630722 133.0
25 20 15 160L 4 334 263 218 271 35 652 20 542 173.0 300 250 350 185 5.0 42 110 105 12 37.0 450 | M16X32  63092Z 630722 148.0
; 25-30 20 180MC 4 382 305 250 241 52 672 20 562 170.5 350 300 400 185 5.0 48 110 105 14 425 515 | M16X32 | 631122 631022 203.0
40 - - 180LA 4 382 305 250 241 52 710 20 600 189.5 350 300 400 185 5.0 55 110 105 16 49.0 500 | M20X40  63122Z 631022 206.0
; 40 2530 | 180LC 382 305 250 241 52 710 20 600 189.5 350 300 400 185 5.0 55 110 105 16 49.0 500 | M20X40 631227 631022 231.0

Remark : 1. Shaft dia "D" clearance : @11~028 : J6, @38~048 : K6

2. Guidance dia

:"N" clearance : h7

3. The above mentioned value subject to change without notice



